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1. H2(g) + Cl2(g) →  2HCl(g)  vd;gJ 
m) rpijTWjy; tpid   M) Nru;f;if tpid   
,) xw;iw ,lg;ngau;r;rp tpid  <) ,ul;il ,lg;ngau;r;rp tpid 

2. xspr;rpijT vd;gJ ,jdhy; eilngWk; rpijT tpidahFk;. 
m) ntg;gk;  M) kpd;dhw;wy; ,) xsp  <) ve;jpu Mw;wy; 

3. fhu;gd; kw;Wk; Mf;rp[d; ,ilNaahd xU tpid gpd;tUkhW Fwpf;fg;gLfpwJ.  
C(S) + O2(g)→ CO2(g)  ,J vt;tif tpidahf tifg;gLj;jg;gLfpwJ. 

(i) Nru;f;if tpid (ii) vupjy; tpid (iii) rpijTWjy; tpid (iv) kPsh tpid 

m) (i) kw;Wk; (ii)    M) (i) kw;Wk; (iv)  

,) (i)> (ii) kw;Wk; (iii)    <) (i)> (ii) kw;Wk; (iv) 

4. Na2SO4(aq) + BaCl2(aq)→ BaSO4(s)↓ + 2 NaCl(aq) vd;w Ntjpr;rkd;ghL gpd;tUtdtw;Ws; 
vt;tif tpidiaf; Fwpf;fpwJ. 

m) eLepiyahf;fy; tpid   M) vupjy; tpid   
,) tPo;gbthjy; tpid   <) xw;iw ,lg;ngau;r;rp tpid 

5. Ntjpr;rkepiy gw;wpa gpd;tUk; $w;Wfspy; vit rupahdit?  
(i) ,af;fj;jd;ik cilaJ. 
(ii) rkepiyapy; Kd;Ndhf;F kw;Wk; gpd;Ndhf;F tpidfspy; tpidNtfk; rkk;. 

(iii) kPsh tpidfs; Ntjpr;rkepiyia miltjpy;iy. 
(iv) tpidgL nghUs; kw;Wk; tpidtpis nghUs;fspy; nrwpT NtWglyhk;. 

m) (i), (ii) kw;Wk; (iii)   M) (i), (ii) kw;Wk; (iv)  

,) (i)> (iii) kw;Wk; (iv)    <) (i)> (iii) kw;Wk; (iv) 
 

6. X(S) + 2 HCl(aq)→ XCl2(aq) + H2(g)vd;w xw;iw ,lg;ngau;r;rp tpidapy; X vd;gJ                                                                                                                                                                                                                                                                   
gpd;tUtdtw;Ws; vijf; Fwpf;fpwJ. 
(i) Zn   (ii) Ag  (iii) Cu  (iv) Mg  
rupahd ,iziaj; Nju;e;njL. 
m) (i) kw;Wk; (ii) M) (ii) kw;Wk; (iii) ,) (iii) kw;Wk; (iv)  <) (i) kw;Wk; (iv) 

7. gpd;tUtdtw;Ws; vJ “jdpkk; + jdpkk; → Nru;kk;” tif my;y.           [PTA – 3] 

m)  C(s) + O2(g)→ CO2(g)   M)  2K(s) + Br2(l)→ 2 KBr(s) 

,) 2CO(g) + O2(g)→ 2CO2(g)  <)  4Fe(s) + 3O2(g)→ 2Fe2 O3(s) 

8. gpd;tUtdtw;Ws; vJ tPo;gbthjy; tpidia Fwpf;fpwJ. 
m) A(S) + B(S) →  C(S) + D(S)   M) A(S) + B(aq)→  C(aq) + D(l) 

,) A(aq) + B(aq) →  C(S) + D(aq)  <) A(aq) + B(S)  →  C(aq) + D(l) 

 


Ntjptpidfspd; tiffs; 

 

I. rupahd tpiliaj; Nju;e;njL 
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9. xU fiurypd; pH kjpg;G 3 vdpy;> mjd; (OH−) i`buhf;irL madp nrwpT vd;d? 

m) 1 × 10−3 M M) 3 M  ,) 𝟏 × 𝟏𝟎−𝟏𝟏M  <) 11 M 

10. J}shf;fg;gl;lCaCO3 ; fl;bahd CaCO3 tpl jPtpukhf tpidGupfpwJ. fhuzk; 
m) mjpf Gwg;gug;gsT   M) mjpf mOj;jk;   
,) mjpf nrwptpdhy;   <) mjpf ntg;gepiy 

 

 

 

1. mkpyk; kw;Wk; fhuj;jpw;F ,ilNaahd tpid eLepiyahf;fy; tpid vd;W miof;fg;gLfpwJ. 

2. i`l;NuhFNshupf; mkpyj;Jld; ypj;jpak; cNyhfk; tpid GupAk;NghJ i`l;u[d; thA 
ntspNaWfpwJ. 

3. gdpf;fl;b cUFjy; nraypy; epfOk; rkepiy ,aw;gpay; rkepiy vd;W miof;fg;gLfpwJ. 

4. xU gor;rhupd; pH kjpg;G 5.6 ,jDld; ePu;j;j Rz;zhk;G Nru;f;Fk; NghJ ,jd; pH kjpg;G 
mjpfkhfpwJ  (mjpfkhfpwJ / FiwfpwJ). 

5. 25℃ ntg;gepiyapy; ePupd; madpg; ngUf;fj;jpd; kjpg;G 1.00 × 10-14 Nkhy;2 nlrpkP-6. 

6. kdpj uj;jj;jpd; nghJthd pH kjpg;G 7.4 

7. kpd;dhw;gFg;G vd;gJ rpijTW tif tpidahFk;. 

8. njhFg;G tpidfspy; cUthFk; tpid tpis nghUs;fspd; vz;zpf;if xd;W. 

9. Ntjp vupkiy vd;gJ rpijTWjy; tif tpidf;F vLj;Jf;fhl;lhFk;. 

10. i`bu[d; (H+) madp ePupy; fiutjhy; cUthFk; madp H3O
+ (my;yJ) 

i`l;Nuhdpak; madp vd;W miof;fg;gLfpwJ. 
 

         
1. tpidapd; tiffis milahsk; fhz;f.                            [PTA – 2]      

tpid tif tpilfs; 

1. NH4OH(aq)+ CH3COOH(aq) → CH3COONH4(aq)+H2O(l) m) xw;iw ,lg;ngau;r;rp tpid 1 - , 

2 - m 

3 - < 

4 - M 

2. Zn(s) + CuSO4(aq) → ZnSO4(aq) + Cu(s) M) vupjy; tpid 

3. ZnCO3(s) + 
   ntg;gk;     
→         ZnO(s) + CO2(g) ,) eLepiyahf;fy; tpid 

4. C2H4(g) + 4O2(g) → 2CO2(g) + 2H2O(g) + ntg;gk; <) ntg;gr;rpijT tpid 
 
 

 
 

 
 

1. rpy;tu; cNyhfk; iel;upf; mkpyj;jpy; i`bu[d; thAit ,lg;ngau;r;rp 
nra;aty;yJ.     

[jtW] 

* rpy;tu; cNyhfk; iel;upf; mkpyj;jpy; tpidGupahJ.  Mjyhy; i`l;u[d; thAit 
,lg;ngau;r;rp nra;ahJ. 

2. SO3, CO2, NO2 Nghd;w thAf;fs; fiue;Js;s kioePupd; pH kjpg;G 7-ia tpl 
Fiwthf ,Uf;Fk;.  

[rup] 

3. xU kPs; tpidapd; rkepiyapy; tpidtpis kw;Wk; tpidgL nghUs;fspd; 
nrwpT rkkhf ,Uf;Fk;. 

[rup] 

II. Nfhbl;l ,lq;fis epug;G 

III. nghUj;Jf 

IV. rupah? jtwh? (jtW vdpy; $w;wpid jpUj;Jf) 
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4. xU kPs;tpidapd; VNjDk; xU tpidtpis nghUis mt;tg;nghOJ ePf;Fk; 
nghOJ mt;tpidapd; tpisr;ry; mjpfupf;fpwJ. 

[rup] 

5. pH jhis xU fiurypy; eidf;Fk; nghOJ kQ;rshf khWfpwJ. vdNt 
mf;fiury; fhuj;jd;ik nfhz;lJ. 

[jtW] 

* pH jhis xU fiurypy; eidf;Fk; nghOJ kQ;rshf khWfpwJ vdpy; mf;fiury; 
mkpyj;jd;ik nfhz;lJ. (m) pH jhis xU fiurypy; eidf;Fk; nghOJ 
Cjhthf khWfpwJ vdpy; mf;fiury; fhuj;jd;ik nfhz;lJ. 

 

 

1. nghl;lhrpak; FNshiuL ePu;f;fiuriy rpy;tu; iel;Nul; ePu;f;fiurYld; Nru;f;Fk; nghOJ 
ntz;ik epw tPo;gbT cz;lhfpwJ. ,t;tpidapd; Ntjpr; rkd;ghl;ilj; jUf. [PTA – 6]   

KCl(aq)  + AgNO3(aq)  

                      
→             KNO3(aq)                 +          AgCl(s)   ↓  

                                                nghl;lhrpak; iel;Nul;      ntz;ik epw tPo;gbT              
 

2. ntg;gepiy cau;j;Jk;nghOJ xU tpidapd; Ntfk; mjpfupf;fpwJ. Vd;? (my;yJ) 
miwntg;gepiyapy; itf;fg;gLk; czT Vd; Fspu;rhjd ngl;biatpl Ntfkhf 

nfLfpwJ?            [PTA – 6, MDL – 19] 
 ntg;gk; mjpfupf;Fk; NghJ tpidgLnghUs;fspd; gpizg;Gfs; vspjpy; cile;J 

tpidapd; Ntfk; mjpfupf;fpwJ.                     
 miwapd; ntg;gepiy FspHrhjd ngl;bapd; ntg;gepiyia tpl mjpfkhf ,Uf;Fk;. 

vdNt FspHrhjd ngl;biatpl miw ntg;gepiyapy; itf;fg;gLk; czT 
Ntfkhf nfl;Lg;Nghtjw;fhd fhuzk; MFk;.  

 

3. Nru;f;if my;yJ $Lif tpid tiuaW> ntg;g ckpo; Nru;f;if tpidf;F 

vLj;Jf;fhl;L jUf.                                          [MAY - 2022] 

,uz;L my;yJ mjw;F Nkw;gl;l tpidgLnghUs;fs; ,ize;J xU Nru;kk; cUthFk; 

tpid> Nru;f;if tpid my;yJ $Lif tpid vdg;gLk;. ,jid ‘njhFg;G tpid’ 

my;yJ ‘,iaG tpid’ vd;Wk; miof;fyhk;. 

nghJthd tbtk; : 𝐴 +  𝐵  →  𝑨𝑩 

ntg;g ckpo; Nru;f;if tpidapd; v.fh :   SiO2(s) + CaO(s) → CaSiO3(s)  
 

4. kPs; kw;Wk; kPsh tpidfis NtWgLj;Jf. [AUG-2022, MAY-2022, SEP- 2021, PTA - 1] 
kPs; tpid kPsh tpid 

1. ,t;tpidapy; jFe;j R+o;epiyapy; 
Kd;Ndhf;F kw;Wk; gpd;Ndhf;F 
tpidfs; eilngWk;. 

2. Kd;Ndhf;F kw;Wk; gpd;Ndhf;F 
tpidfs; xNu Neuj;jpy; eilngWk;. 

3. ,t;tpidahdJ rkepiyia milAk;. 
4. ,t;tpid nkJthf eilngWk;. 

1. ,t;tpidapy; Kd;Ndhf;F tpid kl;Lk; 
eilngWk; (gpd;Ndhf;F tpid 

eilngwhJ) 
2. xNu jpirapy; kl;LNk eilngWk; 
tpid Kd;Ndhf;F tpidahFk;. 

3. ,t;tpidahdJ rkepiyia milahJ. 
4. ,t;tpid Ntfkhf eilngWk;. 

 
 
 

V. RUf;fkhd tpilasp 
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1. ntg;gr;rpijT tpidfs; vd;gJ ahit?                           [SEP – 2021] 
 tpidgLnghUs; ntg;gj;jpdhy; rpijTWk; tpid ntg;gr;rpijT tpidahFk;. 

 ntg;gr; rpijT tpidfspy; gpizg;Gfis cilg;gjw;F ntg;gk; jug;gLfpwJ. ,J 
Nghd;w ntg;gj;ij cwpQ;Rk; tpidfs; ntg;gnfhs; tpidfs;; vd;wiof;fg;gLfpwJ. 

 ,it ,uz;L tifg;gLk;. 

i) Nru;kj;jpypUe;J jdpkk; / jdpkk; rpijtiljy; : 2HgO(S)

   ntg;gk;    
→      2Hg(l) + O2(g) 

ii) Nru;kj;jpypUe;J Nru;kk; / Nru;kk; rpijtiljy; : CaCO3(S)  
 ntg;gk;   
→     CaO(S) + CO2(g) 

 

2. ,ul;il ,lg;ngau;r;rp tpidapd; tiffis jFe;j vLj;Jf;fhl;Lld; tpsf;Ff. [SEP - 2020] 
,ul;il ,lg;ngau;r;rp tpid (my;yJ) nkl;lhjp]p]; tpid vd;gJ xU Nru;kj;jpd; 
madp kw;nwhU Nru;kj;jpd; madpahy; ,lg;ngau;r;rp nra;ag;gLk; tpid MFk;. xNu 
khjpup kpd;Rikfs; nfhz;l madpfs; gupkhwpf; nfhs;sg;gLfpd;wd. ,J ,uz;L tifg;gLk;. 

nghJthd tbtk; : AB +  CD 
                     
→       AD + CB  

i) tPo;gbthf;fy; tpid : ,U Nru;kq;fspd; ePu; fiury;fis fyf;Fk; nghOJ mit 
tpidGupe;J ePupy; fiuahj xU tpisnghUisAk; ePupy; fiuAk; xU 
tpisnghUisAk; nfhLf;Fk; tpid tPo;gbthf;fy; tpid vdg;gLk;. 
v.fh: 

 

 

ii) eLepiyahf;fy; tpid : ,e;j tpidapy; mkpyKk;> fhuKk; tpidGupe;J cg;G kw;Wk; 
ePiuj; jUk; tpid eLepiyahf;fy; tpid vdg;gLk;. Vnddpy; mkpyKk;> fhuKk; 
xd;iwnahd;W eLepiyahf;fpf; nfhs;fpd;wd. 

v.fh :  
 
 

3. xU tpidapd; tpid Ntfj;ij ghjpf;Fk; fhuzpfis tpsf;Ff.          [PTA – 5] 
 Ntjptpidapd; Ntfj;ij ghjpf;ff; $ba Kf;fpa fhuzpfs; : 

i) tpidgL nghUs;fspd; jd;ik :  
v.fh : Nrhbak;> mrpl;bf; mkpyj;Jld; xg;gpLk;NghJ i`l;NuhFNshupf; mkpyj;Jld; 

Ntfkhf tpidGupfpwJ. Vnddpy;> i`l;NuhFNshupf; mkpyk; mrpl;bf; 
mkpyj;ijtpl mjpf tpidjpwd; nfhz;lJ. 

ii) tpidgL nghUspd; nrwpT : nrwpT mjpfkhf ,Uf;Fk; NghJ Fwpg;gpl;l fdmstpy; 
Jfs;fspd; vz;zpf;if mjpfkhf fhzg;gLk;> vdNt tpidNtfk; mjpfupf;fpwJ. 
v.fh : Jj;jehf Jfs;fs;> 1 M i`l;NuhFNshupf; mkpyj;ijtpl 2M i`l;NuhFNshupf; 

mkpyj;jpy; Ntfkhf tpidGupfpwJ. 

iii) ntg;gepiy : xU tpidapd; ntg;gk; mjpfupf;Fk;NghJ tpidgLnghUs;fspd; 
gpizg;Gfs; vspjpy; cile;J tpidapd; Ntfk; mjpfupf;fpwJ.  
v.fh : miwntg;gepiyapy; itf;fg;gLk; czT Fspu;rhjdg; ngl;bapy; itf;fg;gLk; 

czit tpl tpiuthf nfl;Lg;NghfpwJ. 
iv) mOj;jk; : 

thA epiy tpidgL nghUs;fspd; mOj;jk; mjpfupf;Fk;NghJ tpidg;gL nghUs;fspd; 
Jfs;fs; kpf mUNf te;J NkhJfpd;wd. vdNt tpidapd; Ntfk; mjpfupf;Fk;.  

Pb(NO3)2(aq) + 2KI(aq)⟶ PbI2(S) + 2KNO3(aq) 

NaOH(aq)  +  HCl(aq)   ⟶  NaCl(aq)  +  H2O(l) 

VI. tpupthf tpilasp 
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v) tpidA+f;fp : 
        tpidA+f;fp vd;gJ tpidapy; Neubahf <LglhJ> tpidapd; Ntfj;ij mjpfupf;Fk;.  

v.fh : nghl;lhrpak; FNshNul;il #LgLj;Jk; NghJ Mf;rp[d; kpff; Fiwthd Ntfj;jpy; 
ntspNaWfpwJ. Mdhy; khq;fdPR il Mf;i]il tpidgL nghUSld; Nru;j;j gpwF Mf;rp[d; 
ntspNaWk; Ntfk; mjpfupf;fpwJ. khq;fdPR il Mf;i]L tpidA+f;fpahf nray;gLfpwJ. 

vi) tpidgL nghUs;fspd; Gwg;gug;gsT : Ntjptpidapy; fl;bahd tpidgL nghUs;fis  
tpl J}shf;fg;gl;l tpidgLnghUs;fs; mjpf gug;gsitf; nfhz;Ls;sjhy;> 
Jfs;fSf;F ,ilNa Nkhjy; mjpfupj;J> tpidNtfKk; mjpfupf;fpwJ. 

 v.fh :  fl;bahd fhy;rpak; fhu;gNdl;Lfis tpl J}shf;fg;gl;l fhy;rpak; fhu;gNdl;   
            i`l;NuhFNshupf; mkpyj;Jld; kpf tpiuthf tpidapy; <LgLfpwJ. 

4. md;whl tho;tpy; pH vt;thW Kf;fpa gq;F tfpf;fpwJ. 
i) kdpj clypy; pH-d; gq;F : ekJ clypy;; pH kjpg;G 7.0 Kjy; 7.8 tiuapYs;sJ. kdpj 
,uj;jj;jpd; pH kjpg;G 7.35 ypUe;J 7.45 MFk;. ,J Fiwe;jhNyh mjpfkhdhNyh 
Nehia cz;lhf;Fk;.  

ii) nrupkhd kz;lyj;jpy; pH-d; gq;F : ,iug;igapy; Ruf;Fk; i`l;NuhFNshupf; mkpyk; 
nrupkhdj;jpw;Fg; gad;gLfpwJ. rupahd nrupkhdk; ,y;yhjNghJ $Ljy; mkpyk; 
Ruf;fpwJ. ,J ,iug;igapy; typiaAk; vupr;riyAk; Vw;gLj;JfpwJ. ,iug;igapy; 
cs;s jputj;jpd; Njhuhakhd pH kjpg;G 2.0 MFk;. 

iii) gw;rpijTf;F fhuzkhd pH khw;wk; : kdpj ckpo;ePupd; pH kjpg;G 6.5 Kjy; 7.5 tiu 
cs;sJ. ,J 5.5f;F fPNo FiwAk; nghOJ vdhky; ghjpf;fg;gl;L gw;rpijit 
cz;lhf;FfpwJ. fhuj; jd;ikAila gw;giria gad;gLj;Jk;NghJ ,jid 
eLepiyahf;fp gw;rpijT jLf;fg;gLfpwJ. 

iv) kz;zpy;; pH : tptrhaj;jpw;F kz;zpd; pH kjpg;G kpf Kf;fpaj;Jtk; tha;e;jJ. rpl;upf; 
mkpyk; nfhz;l goq;fs; rw;W fhuj;jd;ik tha;e;j kz;zpYk;> ney; mkpyj;jd;ik 
tha;e;j kz;zpYk;> fUk;G eLepiyj;jd;ik nfhz;l kz;zpYk; ed;F tsUk;. 

v) kioePupd;; pH : kioePupd; pH kjpg;G Vwf;Fiwa 7 MFk;. tspkz;ly fhw;W> ry;gu; 
il Mf;i]L kw;Wk; iel;u[d; Mf;i]Lfs; Mfpa thAf;fshy; khRgl;Ltjhy; 
kioePupy; fiue;J pH kjpg;ig 7-I tpl Fiwj;J mkpy kioia Vw;gLj;JfpwJ. 
,J ePu; Xilfs; MW> Fsq;fs;> fly; Nghd;wtw;wpy; fyg;gjhy; ePu;tho; 
capupdq;fis ngupJk; ghjpf;fpwJ. 

 

5. Ntjpr; rkepiy vd;why; vd;d? mjd; gz;Gfs; ahit? 
 Ntjpr; rkepiy vd;gJ xU kPs; Ntjp tpidapd; tpidgLnghUs; kw;Wk; tpidtpis  
               nghUspd; nrwptpy; ve;j khw;wKk; epfohj epiy MFk;. 

 

     v.fh :  CaCO3(s) ⇌ CaO(s) + CO2(g) 
 

Ntjpr;rkepiyapy;> Kd;Ndhf;F tpidapd; Ntfk; = gpd;Ndhf;F tpidapd; Ntfk; 

 Ntjpr; rkepiyapd; gz;Gfs; :                                        [PTA – 3] 

 Kd;Ndhf;F tpidapd; NtfKk; gpd;Ndhf;F tpidapd; NtfKk; rkk;. 
 Neuj;ijg; nghUj;J mOj;jk;> nrwpT> epwk;> mlu;j;jp> ghFepiy Nghd;wit khwhJ. 
 Ntjpr; rkepiy vd;gJ xU ,aq;Fr; rkepiy Vnddpy; Kd;Ndhf;F tpidAk; 

gpd;Ndhf;F tpidAk; njhlu;e;J epiyahf ele;J nfhz;bUf;Fk;. 
 ,aw;gpay; rkepiyapy; midj;J epiyikfSk; khwhj fdmsitg; ngWfpd;wd. 
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1. ‘A’ vd;w jpz;kr; Nru;kj;ij ntg;gg;gLj;Jk; nghOJ rpije;J ‘B’ kw;Wk; ‘C’ vd;w 

thAitj; jUfpwJ. ‘C’ vd;w thAit ePupy; nrYj;Jk; NghJ mkpyj;jd;ikahf 
khWfpwJ. A, B kw;Wk; C-iaf; fz;lwpf. 
fhy;rpak; fhu;gNdl;il (A)  ntg;gg;gLj;Jk;NghJ rpije;J fhy;rpak; Mf;irL (B)  
kw;Wk; fhu;gd; ilMf;iril (C) jUfpwJ. 

     𝐂𝐚𝐂𝐎𝟑(𝐬)       
ntg;gk;
→        𝐂𝐚𝐎(𝐬)           +        𝐂𝐎𝟐(𝐬) ↑ 

fhy;rpak; fhu;gNdl;       fhy;rpak; Mf;irL    fhu;gd; il Mf;irL                    
 

fhu;gd; ilMf;irL (C)  thAit ePupy; nrYj;Jk;NghJ fhu;ghdpf; mkpykhf khWfpwJ.  

     𝐂𝐎𝟐(𝐠)     +   𝐇𝟐𝐎(𝐠)
                    
→           𝐇𝟐𝐂𝐎𝟑(𝒍)                    

fhu;gd; il Mf;irL                   fhu;ghdpf; mkpyk;                                                    
 

    A → CaCO3 ;               B → CaO                 C → CO2 thA 
 

2. fhg;gu; ry;Ngl; fiuriy fyf;Ftjw;F epf;fy; fuz;bia gad;gLj;jyhkh? cdJ 
$w;iw epahag;gLj;Jf.                                          [PTA – 6] 

 fhg;gu; ry;Ngl; fiuriy fyf;Ftjw;F epf;fy; fuz;bia gad;gLj;jf;$lhJ.  
 Vnddpy; epf;fy; fhg;giutpl mjpf tpidjpwd; nfhz;lJ. epf;fy; fhg;gu; ry;Ngl; 

fiurypy; cs;s fhg;giu ,lg;ngau;r;rp nra;fpwJ. 
 

 
1. vYkpr;ir rhwpd; pH kjpg;G 2 vdpy;> 

mjd; i`l;u[d; madpapd; nrwptpd; 
kjpg;G vd;d?  
jPu;T : pH =  − log10[H

+]= 2 
     log10[H

+] = −2  
       ⇒ [H+] = 0.01 (my;yJ)  10−2 
∴  nrwpT  1.0 × 10-2 Nkhy; ypl;lu;-1 

2. 𝟏. 𝟎 × 𝟏𝟎−𝟒 Nkhyhu; nrwpAs;s 𝐇𝐍𝐎𝟑 
fiurypd; pH kjpg;ig fzf;fpLf. 
jPu;T   : pH   = − log10[H

+]       [PTA – 1] 

           = −log10[10
−4]  

         = −(−4) log10 10 

                     pH =  4(1) = 4  (∵  log10 10 = 1) 

HNO3 fiurypd; pH kjpg;G 4 MFk;.    
3. 𝟏. 𝟎 × 𝟏𝟎−𝟓 Nkhyhu; nrwpTs;s 𝐊𝐎𝐇  

fiurypd; pH kjpg;ig fhz;f. [PTA – 6] 

jPu;T   : pOH  = − log10[OH
−]   

            = −log10[10
−5]  

         =  −(−5) log10 10 

                                          (∵  log10 10 = 1) 

              pOH   =  5(1) = 5    

    ∵ pH + pOH = 14 

                  pH = 14 −pOH = 14 − 5 = 9 

∴ KOH fiurypd; pH kjpg;G 9. 

4. xU fiurypy; i`l;uhf;irL madpr; 
nrwpT 𝟏. 𝟎 × 𝟏𝟎−𝟏𝟏 Nkhy; vdpy; mjd; 
pH kjpg;G vd;d?          [PTA – 5] 
jPu;T  : pOH  =  − log10[OH

−]  

                       = − log10[ 1 × 10
−11] 

                       = −(−)11 log10 10  
           (∵  log10 10 = 1) 

               pOH = 11(1) =  11  

   ∵ pH + pOH = 14 
                     pH = 14 − pOH 

                   pH = 14 − 11 = 3 

     ∴  fiurypd; pH kjpg;G 3. 

khjpupf; fzf;F 

5. 0.01 M HNO3 fiurypd; pH kjpg;G fhz;f?                                              [TB – 147] [MDL – 19] 
jPu;T   :        pH = – log10 [H+]  = −log1010

−2 = −(−2) log10 10  (∵  log10 10 = 1) 
                    pH  =  2(1) = 2    

0.01 M HNO3 fiurypd; pH kjpg;G 2 MFk;. 

VII. cau; rpe;jidf;fhd tpdhf;fs; 

VIII. fzf;fPLfs; 
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